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1101[XK1E EE 80 800 0 800 10 0 0 0 1296 0 756
EE 10 150 0 150 15 0 0 0 0 648 0
GhH 90 950 0 950
1141|5848 mE 12 60 0 60 5 0 0 0 3240 0 864
=) 3 30 0 30 10 0 0 0 0 1728 0
& 15 90 0 90
1201[83% % 140 2100 0 2100 15 0 0 0 2700 0 1404
& 140 2100 0 2100
1203[F ¥Ry [HE 120 1200 0 1200 10 0 0 0 1728 0 1512
HE 100 1500 0 1500 15 0 0 0 0 1134 0
f=554 77 770 0 770 10 0 0 0 2084 0 648
EF 110 1650 0 1650 15 0 0 0 0 1134 0
GhH 407 5120 0 5120
1207| & & & 882 90 90 0
1209| B & dbiEE 10 50 0 50 5 0 0 0 2916 0 2808
) 10 50 0 50
1221[=vE GH 12 17 0 17
1227[KE EE 160 64 64 0 0.4 151 0 59 0 0 0
& if] 150 30 0 30 0.2 0 0 0 119 0 97
Eh 310 94 64 30
1245 /MR EE 332 133 133 0 0.4 302 0 65 0 0 0
Eh 732 213 133 80
1301 |HF RE 2 10 10 0 5 713 0 432 0 0 0
EmE 40 12 0 12 0.3 0 0 0 0 184 0
BmE 100 50 0 50 05 0 0 0 238 0 151
S 14 56 0 56 4 0 0 0 1944 0 1404
#mE 28 140 0 140 5 0 0 0 3024 0 1728
Bl 204 82 0 82 0.4 0 0 0 205 0 194
(&) 400 408 10 398
1311|F<F I B 30 120 0 120 4 0 0 0 3564 0 3024
(&) 60 240 0 240
1321 [#R iz 24 120 0 120 5 0 0 0 3564 0 1836
(&) 24 120 0 120
1351E—<> [EE 1500 225 0 225 0.15 0 0 0 0 130 0
(&) 1501 231 0 231
1355|455 ERE 160 16 0 16 0.1 0 0 0 0 97 0
(&) 240 24 0 24
1411 [&E Eh 120 36 36 0
1501 | H 2k mE 16 80 0 80 5 0 0 0 1296 0 756
Eh 16 80 0 80
1541 | E& dLiEE 765 15300 0 15300 20 0 0 0 2160 0 1728
Eh 765 15300 0 15300
1603|tz)L)— [E%H 6 60 0 60 10 0 0 0 4104 0 2808
Eh 6 60 0 60
1609|7Aval) |EH 5 30 0 30 6 0 0 0 0 4104 0
Gh 5 30 0 30
1611[LBR E% 10 100 0 100 10 0 0 0 2700 0 2592
Gh 10 100 0 100
1612[ =L A2R |[EH 5 25 0 25 5 0 0 0 2376 0 2160
Gh 5 25 0 25
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1803 | EHEE B 450 45 0 45 0.1 0 0 0 135 0 103
mE 340 34 0 34 0.1 0 0 0 109 0 87
=) 360 72 0 72 0.2 0 0 0 77 0 66
& 1150 151 0 151
1807 |#B f=554 250 25 0 25 0.1 0 0 0 0 46 0
=% 1050 210 0 210 0.2 0 0 0 78 0 72
f=554 150 45 0 45 0.3 0 0 0 0 99 0
& 1450 280 0 280
1809[L&L EH 250 25 0 25 0.1 0 0 0 0 49 0
=% 2100 420 0 420 0.2 0 0 0 86 0 81
(&) 2350 445 0 445
* S FAET * 21523 52225 540 51686
2103 | BEHMA [FNFRL 50 500 0 500 10 0 0 0 3672 0 2484
GhH 50 500 0 500
230725k LS 2 20 0 20 10 0 0 0 0 5508 0
(&) 2 20 0 20
2421 | PR &R | F0F3l 6 45 0 45 75 0 0 0 0 3888 0
[&0) 6 45 0 45
2611 |EA—2  [El 16 6 0 6 0.4 0 0 0 400 0 356
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e LI 9 45 0 45 5 0 0 0 7668 0 4761
(&) 29 59 0 59
2616|SYRAA+  [EH 30 11 0 11 0.35 0 0 0 0 788 0
[ 24 17 0 17 0.7 0 0 0 0 1296 0
FE L 12 60 0 60 5 0 0 0 9720 0 8640
(&) 66 87 0 87
2821 [ETER EE 84 34 0 34 0.4 0 0 0 508 0 475
EE 180 90 0 90 0.5 0 0 0 389 0 259
Eh 264 124 0 124
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